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1. If xy + yz + zx = 1, then    

21 y

x y y z



   = ?

(a) 0

(b) 1

(c) 2

(d) 3

2. If x2 + y2 + z2 = xy + yz + zx then the value of

4 4 4

2 2 2 2 2 2

3 7 5

5 7 3

x y z

x y y z z x

 

 
 is

(a) 2 (b) 1

(c) 0 (d) –1

3. If a2 + b2 + c2 = ab + bc + ca then 
a c

b


 is

(a) 0 (b) 2

(c) 1 (d) –1

4. If 
4 – 3x

x
 + 

4 – 3y

y
 + 

4 – 3z

z
 = 0 then

1 1 1

x y z
   is

(a) 9 (b) 3

(c) 4 (d) 6

5. If 
2 a

a


 + 

2 b

b


 + 

2 c

c


 = 4 then the value

of 
 ab bc ca

abc

 
 is

(a) 2 (b) 1

(c) 0 (d)
1

2

6. If 
2 22x a c

b c

 


 + 

2 22x b a

c a

 


 + 

2 22x c b

a b

 



= 0, find x

(a) a2 + b2 + c2 (b) –(a2 + b2 + c2)

(c) a2 + 2b2 + c2 (d) –(a2 + 2b2 + c2)

7. If 
2

2 2

–x a

b c
 + 

2

2 2

–x b

c a
 + 

2

2 2

–x c

b a
 = 3, find the

value of x.

(a) a2 + b2 – c2

(b) a2 + b2 + c2

(c) a2 – b2 – c2

(d) a2 + b2

8. If bc + ca + ab = abc then

     –1 –1 –1

b c c a a b

bc a ca b ab c

  
   = ?

(a) 0

(b) 1

(c) 2

(d) 3

9. If a2 = b + c, b2 = c + a, c2 = a + b, then 
1

1 a

+ 
1

1 b
 + 

1

1 c

(a) 0

(b) 1

(c) 2

(d) 3

10. If a, b, c are non zero, 
1

a
b

  = 1 & 
1

b
c

  = 1

then (i) abc is (ii) c + 
1

a
 is

(a) –1, 1

(b) 3, –1

(c) –3, 1

(d) 1, 1

11. If ax = (x + y + z)y, ay = (x + y + z)z and

az = (x + y + z)z, then x + y + z = ? (a  0)

(a) 0

(b) 1

(c) a3

(d) a
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12. If a + b + c = 0, then the value of 
2 2 2

2 –

a b c

a bc

 

(a) 0 (b) 1

(c) 2 (d) 3

13. If a + b + c = 0 then the value of 
2

2

–

–

a bc

b ca
 is

(a) 0 (b) 1

(c) 2 (d) 3

14. If a + b + c = 0 then the value of 
2 2 2a b c

ab bc ca

 

 
is

(a) 2 (b) –2

(c) 0 (d) 4

15. If x + y + z = 0 then      
xyz

x y y z z x    = ?

(a) –1 (b) 1

(c) xy + yz + zx (d) None

16. If a + b + c = 0

then (a + b – c)2 + (b + c – a)2 + (c + a – b)2 = ?

(a) 0 (b) 8abc

(c) 4(a2 + b2 + c2) (d) 4(ab + bc + ca)

17. If If a + b + c = 0, then

a b b c c a

c a b

   
   

a b c

b c c a a b

 
     

 is :

SSC CGL 6 June 2019 (Morning)

(a) 8 (b) 9

(c) – 3 (d) 0

18. If 
3 1

1

x

x




 = 

3 –1

–1

x

x
, find x

(a) 1 (b) –1

(c) 0 (d) All of these

19. If a + b = 1, then a4 + b4 – a3 – b3 – 2a2b2 + ab
is

(a) 1 (b) 2

(c) 4 (d) 0

20. If x + y = 1 + xy, then x3 + y3 – x3y3 is

(a) 0 (b) 1

(c) –1 (d) 2

21. If x + y = 2a, then the value of 
– –

a a

x a y a
  is

(a) 2 (b) 0

(c) 1 (d) –1

22. If a + b = 1, find a3 + b3 – ab – (a2 – b2)2

(a) –1 (b) 1

(c) 0 (d) 2

23. If a2 + b2 = 2 and c2 + d2 = 1,

then (ad – bc)2 + (ac + bd)2 is

(a)
4

9
(b)

1

2

(c) 1 (d) 2

24. If a = x + y, b = x – y, c = x + 2y

then a2 + b2 + c2 – ab – bc – ca is

(a) 4y2 (b) 5y2

(c) 6y2 (d) 7y2

25. If x = 
a

b
 + 

b

a
,   y = 

b

c
 + 

c

b
,   z = 

c

a
 + 

a

c
, then

what is the value of xyz – x2 – y2 – z2 = ?

(a) –4 (b) –2

(c) –1 (d) –6

26. If a3b = abc = 180, a, b, c are positive inte-
gers, then the value of c is :

(a) 110 (b) 1

(c) 4 (d) 25

27. If x = 
1

a
a

  and y = 
1

–a
a

 then

4 4 2 2– 2x y x y  is equal to :

SSC CGL 6 June 2019 (Morning)

(a) 16a2 (b) 8

(c) 2

8

a
(d) 4

28. If x = 2 – p, then x3 + + 6xp + p3 is equal to :

SSC CGL 7 June 2019 (Morning)

(a) 12 (b) 6

(c) 8 (d) 4

29. Find the product of

(a + b + 2c)((a2 + b2 + 4c2 – ab – 2bc – 2ca).

SSC CGL 7 March 2020 (Evening)

(a) a3 + b3 + 8c3 – 6abc

(b) a3 + b3 + 6c3 – 6abc

(c) a3 + b3 + 8c3 – 2abc

(d) a3 + b3 + 8c3 – abc
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30. If 
a

b
 = 

16

3
, what is 

–

a b

a b



(a)
19

13
(b)

17

13

(c)
19

26
(d)

21

13

31. If 
4 9

4 – 9

a b

a b


 = 

4 9

4 – 9

c d

c d


 then the value of 

a

b

can be equal to :

(a)
c

d
(b) 2

(c)
ab

c
(d)

bc

a

32. If 
5

– 5

x

x


 = 2, find x

(a) 2 5 (b) 3 5

(c) 9 5 (d) 6 5

33. If x = 
–a b

a b
,   y = 

–b c

b c
,   z = 

–c a

c a
, find

1 1 1

1– 1– 1–

x y z

x y z

  
 

(a) 1 (b)
ab

bc

(c) abc (d) 0

34. If 
3

2

3

3 1

x x

x




 = 

189

61
, find the value of x

(a) 9 (b) 6

(c) 8 (d) 4

35. If 
3 2

2 3

3

3

a ab

a b b




 = 

3 2

2 3

3

3

x xy

x y y




, then 

y

b
 = ?

(a)
x

a
(b)

x

y

(c)
a

b
(d) None of these

QUESTIONS BASED ON COMPONENDO & DIVIDENDO

36. If 
3 3 –

3 – 3 –

x x

x x

 


 = 2 then x is equal to–

(a)
5

12
(b)

12

5

(c)
5

7
(d)

7

5

37. If 
1

x
 = 

m+3n+ m – 3n

m+3n – m – 3n
, then find the

value of 2mx – 3nx2 is :

(a) 3n (b) 3m

(c) 2n (d) 2m

38. If x = 2

2

1

ab

b 
, find 

– –

–

a x a x

a x a x



 

(a) b (b) a

(c)
1

a
(d)

1

b

39. If x = 
4ab

a b
,  a b , then value of

2 2

– 2 – 2

x a x b

x a x b

 
  is :

(a) a (b) b

(c) 2ab (d) 2

40. If x = 
8

+

ab

a b
, a  b then value of

+4 +4
+

– 4 – 4

x a x b

x a x b
 is :

(a) a (b) b

(c) 2ab (d) 2

41. If x = 
3

2
 then the value of

1+ + 1–

1+ – 1–

x x

x x

 
 
 

 is :

(a) – 3 (b) –1

(c) 1 (d) 3
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1.(b) 2.(b) 3.(b) 4.(c) 5.(d) 6.(b) 7.(b) 8.(b) 9.(b) 10.(a)

11.(d) 12.(c) 13.(b) 14.(b) 15.(a) 16.(c) 17.(b) 18.(c) 19.(d) 20.(b)

21.(b) 22.(c) 23.(d) 24.(d) 25.(a) 26.(b) 27.(d) 28.(c) 29.(a) 30.(a)

31.(b) 32.(b) 33.(a) 34.(a) 35.(a) 36.(b) 37.(a) 38.(d) 39.(d) 40.(d)

41.(d)

Answer Key
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